Variante 1

o Variante 3
: 3
5 N 1904
H=  |AUsgan
i . . i) = I E
B oI = g2 LSt
] g A K :I[K oHI= NN
1o =4 D - O H wa Wil AN
'EI[K :='= L |0 AN " 0 :I -
- OHJ =)
= | TERe { B _El 3
= =¥o i Awﬁ T =g
5 S 5 e,
o o A v
O o 5 N
Eingang|  f8 ol Eingang [
1904
Variante 2 Variante 4 )
Eingan - Eingang
E AUsgang| ks 2
1 BN 7 s S
i - oISl g = CHEonE
-EIEK = - [ ° =T
= T g SIEFE T
.zli A o 4 %IEK A : E(l
= Ausgan
C Gesamthohe:
min. 1920mm

max. 2070mm




	Blatt1
	Zeichenansicht1
	Zeichenansicht2
	Zeichenansicht3
	Zeichenansicht4


